Your name:_____________________ Duration: 1h30;
Indicate whether the correspondent assertion is true (T) or false (F)

For each correct answer you get 0.625; for each incorrect answer you lose 0.3
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1. According to the Specific Factors model, the real income of the factor specific to the export industry rises while the real income of the other specific factor falls. 
2. Ricardo has shown that a country with an absolute advantage in one good will also have a comparative advantage in that good.

3. Consider the following unit cost matrix:


Cloth 
Wheat

UK
    2h
   1h

Germany  4h
   6h

Germany has an absolute advantage in cloth and the UK has a comparative advantage in wheat.

4. In the example of question 3, specialization according to comparative advantage will allow the “world” to save 3 hours of work for each pair (1 cloth, 1wheat) produced.

5. In the example of question 3, in the UK the MRT of wheat into cloth is equal to 2.
6. In the example of question 3, the opportunity cost of cloth of cloth is: 2 units of wheat in the UK; and 2/3 units of wheat in Germany. For this reason, if the production of 1 unit of wheat is transferred from Germany to the UK, the production of cloth in the “world” can be increased by 4/3 units.

7. In the example of question 3, an increase of 100% in the productivity of cloth in Portugal does not change the comparative advantage of each country.
8. In the example of question 3, the relative price of cloth in the UK in autarky would be equal to 2 even without free mobility of producers between the two sectors.

9. In the ricardian model, a country unable to provide for the world demand of the good in which it specializes does not gain anything from trade.
10. In the ricardian model, the relative price in the international market is determined by the world demand for the two goods

11. In the ricardian model, because of their much lower productivity less developed countries cannot compete with developed countries.

12. Consider the following productivity matrix

Coffee

Iron 
Chocolate
Autos 
Pencils

US 
    1

  4
      8

 16
   32
EU
     1

   2
       2                  2
     4

The hourly wage rate is 10$ in the US and 5€ in the EU and 1€ = 0.9$
a) The US exports iron, chocolate, autos and pencils and imports coffee.

b) If the dollar depreciates below 1$=0.5€, trade does not take place. 

c) The relation between the US wage and the EU wage will not be in equilibrium if the US has a trade deficit.

d) In fixed rates, a country with a trade surplus will observe an increase in its nominal wages.

e) In flexible rates, a country with a trade surplus will observe an increase in its nominal wages.
13. In his study of US and UK data, MacDougal (1951) concluded that the value of US exports exceeded the value of UK exports in the goods where it – the US – had higher productivity.

14. In the Ricardian model with three countries, the pattern of trade of the “middle” country (the country whose relative cost is in the middle of the relative costs of the two other countries) will depend on the world demand for the two goods.
15. According to the Ricardian model, despite their higher wages developed countries can compete with less developed countries.

16. In the HO/NC model, the “consumption gain” or “exchange gain” associated with trade would arise even with no specialization; it is merely a result of a trade-induced change in the relative price.

17. In both the ricardian and the HO models, trade will arise even if the autarkic relative prices of the two countries coincide.

18. If the price of labour rises and the price of capital falls, the production cost of the labour intensive good may fall; but the cost of that good relative to the cost of the capital intensive good will always rise.
19. If the production of 1 unit of wheat requires 15 hours and the production of 1 unit of cloth requires 20 hours, then cloth is the labour intensive good.

20. Auto production is capital-intensive compared agricultural production if K/L in auto production is higher than K/L in agriculture.
21. In the HO model, suppose that L/K in country A is higher than in country B. Then, A will specialize in the labour intensive good, even if in autarky w/r is higher in A than in B.

22. In the HO model, suppose that in autarky w/r in country A is lower than in country B. Then, A will specialize in the labour intensive good, even if L/K is lower in A than in B.

23. Suppose that L/K is higher in A than in B and that, in autarky, w/r in country A is lower than in country B. Then, A will necessarily have lower relative costs in the labour intensive good even if the production technologies in A are different from the production technologies in B.
24. Along the process of specialization predicted by the HO model, the price of the good intensive in the scarce factor falls and the price of the good intensive in the abundant factor rises. 

25. In the HO model, trade leads to a switch toward more capital intensive techniques in a labour abundant country.

26. Along the process of specialization predicted by the HO model, the nominal income of the scarce factor rises and the nominal income of the abundant factor falls. 

27. The empirical evidence has shown that US exports are especially intensive in human capital, not in physical capital.
28. According to the Rybcynski theorem, an increase in the supply of one factor increases the production of both goods. However, the increase is higher in the good intensive in the factor whose supply rises

